ANKE—BEXR (FRTHIE)

KEAEHR-—ER (FRTHE)



KEBEHRR—ER (0FEFRTHIE)

Ao & B8l
= & Hh o= £ =Y L KERHE HETEE =£XKE 0 ##8 SBXE RIIE
—ER e (m*/s) 2.87 — 2,67 4.45 — 479 487
2KiE (m) 0.46 0.34 0.33 0.16 0.22 0.63 0.44
pH 7.8 8.6 8.8 8.3 9.1 9.1 9.0
DO 11 10 11 11 11 11 11
£ BOD 0.7 0.8 0.9 0.9 1.0 1.1 1.2
é coD 15 2.3 2.5 2.3 29 2.6 3.0
1 SS 2 3 3 2 2 2 4
5 KBEEH 2.9E03 4.3E03 1.0E04 5.5E03 4.8E03 4.9E03 3.2E03
B 2% 0.46 — 0.56 0.83 — — 0.68
=y 0.030 — 0.045 0.040 — — 0.052
2 HE 0.001 0.003 0.001 0.002 0.002 0.002 0.003
HREH L < 0.001 — < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
eLTY ND — ND ND ND ND ND
i < 0.005 — < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
AL < 0.02 — < 0.02 < 0.02 < 0.02 < 0.02 < 0.02
itk < 0.005 — < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
#akER < 0.0005 — < 00005 | <00005 | <00005 | <00005 < 0.0005
® pcg — — — — — — ND
sononirey < 0.002 — < 0.002 < 0.002 — — < 0.002
migbRFE < 0.0002 — < 0.0002 | < 0.0002 — — < 0.0002
12-ConnT4ay < 0.0004 — < 0.0004 < 0.0004 — — < 0.0004
B 11-CyoozFLy < 0.002 — < 0.002 < 0.002 — — < 0.002
YA-12-C4oOoaxFLy | < 0.004 — < 0.004 < 0.004 — — < 0.004
1,1,1-~JoonTiay <01 — <01 <01 — — <01
1,1,2-~yonoxTiay < 0.0006 — < 0.0006 < 0.0006 — — < 0.0006
1/ | M)yooTIFLy < 0.003 — <0003 <0003 — — < 0.003
FrSHYOOIFLY < 0.001 — < 0.001 < 0.001 — — < 0.001
1,3->H/nn7oRy < 0.0002 — < 00002 < 0.0002 — — < 0.0002
FoT L < 0.0006 — < 0.0006 | < 0.0006 — — < 0.0006
g YU < 0.0003 — < 00003 < 0.0003 — — < 0.0003
FARUAIILT < 0.002 — < 0.002 < 0.002 — — < 0.002
"By < 0.001 — <0001 < 0.001 — — < 0.001
L < 0.002 — < 0.002 < 0.002 — — < 0.002
HEMERRUVEHRBERR| 042 — 0.44 0.72 — — 0.51
Aok 0.08 — 0.09 0.08 — — 0.09
F5% <01 — <01 < 0.1 — — < 0.1
= TRIIEESIFILAFIIL | <0006 — < 0.006 < 0.006 — — < 0.006
& w7l < 0.005 — <0005  <0.005 — — < 0.005
| O E®IITY < 0.007 — < 0.007 < 0.007 — — < 0.007
B 7UoFEY < 0.002 — <0002 <0002 — — < 0.002
B oz/—p < 0.001 — < 0.001 < 0.001 — — < 0.001
X RILLTILTER < 0.003 — < 0.003 < 0.003 — — < 0.003
Jx/—)LEE < 0.01 — <001 < 001 — — < 0.01
L 0.01 — 001 001 —_ — 001
?ﬁt B GBfENE) 0.07 — 0.05 0.05 — — 0.04
SR SZPACS k) < 0.01 — < 0.01 0.01 — — < 0.01
7i=VN < 0.01 — < 0.01 0.01 — — < 0.01
TUOEZTHER 0.01 — 0.01 0.02 — — 0.02
T | FAEEY 0.023 — 0.026 0.022 — — 0.030
DIEE B4 REEEHF 0.01 — 0.01 <001 — — 0.01
R/NBARL R RE — — — — — — —

GE) x i, E(ELREE) DA SEETRT,
NDI&, M&EHE SN LIETRT,
XATDBRIEIEE DH

(

BT :mg/l (1=12L, pH
K E B S E {2 : MPN/100ml
7735, E03(X10D3%E, E04L10MATETT ,

KB EBRHEERG) )




R Bl Fit=SEal =5 =39l )11
5 B R & | TARE | XMiE | SEE BHE A8E | TEE | \TRE
. RE (m®/s) 0.56 258 1.66 — 2.97 0.82 757
—fg1EH —
2KE (m) 0.15 0.91 0.39 0.27 0.23 0.18 0.47
pH 79 6.7 7.8 8.2 74 8.0 8.1
DO 9.9 9.5 10 10 9.8 10 11
£ BOD 1.0 2.7 0.7 0.9 0.9 1.1 0.7
;g coD 3.6 7.2 1.6 2.0 25 2.9 1.7
j SS 6 2 2 3 2 4 1
5 KEEEY 1.3E04 2.8E04 1.3E04 6.6E03 8.5E03 3.0E04 3.3E03
B 2E% 0.86 74 0.90 — 1.3 0.89 0.28
2% 0.040 0.51 0.040 — 0.045 0.070 0.019
ok 0.003 0.036 0.002 0.002 0.002 0.002 0.002
HREH L < 0.001 < 0.001 < 0.001 — < 0.001 < 0.001 < 0.001
eLTY ND ND ND — ND ND ND
£ < 0.005 < 0.005 < 0.005 — < 0.005 < 0.005 < 0.005
AN ifod= W <0.02 < 0.02 <0.02 — < 0.02 < 0.02 <002
fittR < 0.005 < 0.005 < 0.005 — < 0.005 < 0.005 < 0.005
#aKER < 0.0005 | < 00005 | < 00005 — < 0.0005 | <0.0005 | < 0.0005
® pcg — ND — — — — —
SHOAAY — < 0.002 < 0.002 — < 0.002 < 0.002 —
migikix % — < 0.0002 | < 0.0002 — < 0.0002 | < 0.0002 —
12-CHonT4y — < 0.0004 | < 0.0004 — < 0.0004 | < 0.0004 —
B 11->yoozFLy — < 0.002 < 0.002 — < 0.002 < 0.002 —
YA-12-UHynoaxrFLy — < 0.004 < 0.004 — < 0.004 < 0.004 —
1,1,1-~yoooxTay — <01 <01 — <01 <01 —
1,12-~JonnTay — < 0.0006 | < 0.0006 — < 0.0006 | < 0.0006 —
H | M)HyOOTIFLY — < 0.003 < 0.003 — < 0.003 < 0.003 —
FhSHOOIFLY — < 0.001 < 0.001 — < 0.001 < 0.001 —
13-CH/on7oRy — < 0.0002 | < 0.0002 — < 0.0002 | < 0.0002 —
Foo L — < 0.0006 | < 0.0006 — < 0.0006 | < 0.0006 —
g YU — < 0.0003 | < 0.0003 — < 0.0003 | < 0.0003 —
FARAILT — < 0.002 < 0.002 — < 0.002 < 0.002 —
¥y — < 0.001 < 0.001 — < 0.001 < 0.001 —
L — < 0.002 < 0.002 — < 0.002 < 0.002 —
TEEMERRUEMEEESR| 066 6.4 0.83 — 1.2 0.75 —
ERE = 0.10 0.10 0.09 — 0.09 0.09 —
5% <0.1 < 0.1 <0.1 — < 0.1 < 0.1 —
= TR ITFILAFIIL | <0006 < 0.006 < 0.006 — < 0.006 < 0.006 < 0.006
B 7L < 0.005 < 0.005 < 0.005 — < 0.005 < 0.005 < 0.005
B E®IITY < 0.007 < 0.007 < 0.007 — < 0.007 < 0.007 < 0.007
B FUFEY < 0.002 < 0.002 < 0.002 — < 0.002 < 0.002 < 0.002
B  oz/— < 0.001 < 0.001 < 0.001 — < 0.001 < 0.001 < 0.001
X RILLTILTER < 0.003 < 0.003 < 0.003 — < 0.003 < 0.003 < 0.003
Jx/—)LEE — < 0.01 < 0.01 — < 0.01 < 0.01 < 0.01
ﬁ il — 0.01 0.01 — 0.01 < 0.01 < 0.01
iﬁ 8 CRRE) — 0.06 0.04 — 0.05 0.10 0.08
ERESZ PR k) — 0.01 0.01 — < 0.01 <001 < 0.01
~0.L — < 0.01 < 0.01 — < 0.01 < 0.01 < 0.01
TUOEZTHER 0.01 0.37 0.01 — 0.01 0.02 —
D FEIE) 0.018 0.41 0.027 — 0.029 0.039 —
DIEE [BAF 2 REmEHEH 0.01 0.02 < 0.01 — 0.01 0.02 0.02
R)/NBAZ HEREE — — — — — — 0.025

GE) B, E(AL3REH) DAEEETRT,
NDIZ, M&HEESNBNTEIETRT,
XATORIEIEER DH

(

BfI:mg/l (=12, pH, KIGREEHHZRS)

K E B S E {2 : MPN/100ml

7245, EO3[X10M3%E, E04IX10DAFEETRT




AN & = J SN il
2 B oR B | xEAE «TEAE o« AW+ PREE  + TENE FMEE | LAEHE
—iEE nE (m*/s) 20.98 17.09 — 30.37 24.71 1.17 0.18
2KE (m) 0.64 0.48 1.80 0.92 3.39 0.46 0.26
pH 79 8.2 8.0 75 7.6 7.8 8.7
DO 10 10 10 9.8 9.7 11 12
£ BOD 0.8 1.0 1.1 13 1.2 0.7 14
;g coD 2.4 2.7 2.6 4.1 40 1.9 3.1
i SS 4 6 5 7 5 1 4
15 AEEHR 8.3E03 8.9E03 2.6E03 1.5E04 2.2E04 1.3E04 8.0E03
B 2% 0.97 0.92 0.85 29 2.8 0.29 0.99
oy 0.049 0.056 0.046 0.21 0.18 0.019 0.075
ok 0.003 0.003 0.004 0.016 0.015 0.002 0.005
HREH L < 0.001 < 0.001 — — < 0.001 < 0.001 < 0.001
eLTY ND ND — — ND ND ND
£ < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
AN ifod= W <0.02 < 0.02 — — <002 < 0.02 <002
fittR < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
#aKER < 0.0005 | < 0.0005 — — < 0.0005 | < 00005 | < 0.0005
® pcg ND ND — — ND — —
PZi=l=P o3 < 0.002 < 0.002 — — < 0.002 < 0.002 < 0.002
migbiRE < 0.0002 | < 0.0002 — — < 0.0002 | < 00002 | < 0.0002
1,2->900x14> < 0.0004 | < 0.0004 — — < 0.0004 | < 00004 | < 00004
B 11->yonzFLy < 0.002 < 0.002 — — < 0.002 < 0.002 < 0.002
YA-12-UH/O0axFLy | < 0.004 < 0.004 — — < 0.004 < 0.004 < 0.004
1,1,1-kyoooxTay <01 <01 — — <01 <01 <01
1,12-~JonpTay < 0.0006 | < 0.0006 — — < 0.0006 | < 00006 | < 0.0006
H | M)HyOOTIFLY < 0.003 < 0.003 — — < 0.003 < 0.003 < 0.003
FrSH/OOIFLY < 0.001 < 0.001 — — < 0.001 < 0.001 < 0.001
13-CH/on7oRy < 0.0002 | < 0.0002 — — < 0.0002 | < 00002 | < 00002
Fo5 L < 0.0006 | < 0.0006 — — < 0.0006 | < 0.0006 | < 0.0006
g YU < 0.0003 | < 0.0003 — — < 0.0003 | <0.0003 | < 0.0003
FAR AT < 0.002 < 0.002 — — < 0.002 < 0.002 < 0.002
¥y < 0.001 < 0.001 — — < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 — — < 0.002 < 0.002 < 0.002
EHMEERRUEMRBEESR| 072 0.69 0.66 25 2.4 0.22 0.77
ERE = 0.08 0.08 — — 0.09 < 0.08 0.09
F5% <01 < 0.1 — — < 0.1 < 0.1 < 0.1
m JELBOIFIAXUIL — — - = < 0.006 < 0.006 < 0.006
B w7l < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
#H O EIITY — — — — < 0.007 < 0.007 < 0.007
B FUFEY — — — — < 0.002 < 0.002 < 0.002
B oz/—1 < 0.001 — — — < 0.001 < 0.001 < 0.001
X RILLTILTER < 0.003 — — — < 0.003 < 0.003 < 0.003
Jx/—)LEE — < 0.01 — — — < 0.01 < 0.01
i < 0.01 — — — < 0.01 < 001 < 0.01
% S GAfEtE) 0.04 0.04 0.05 0.04 0.04 0.07 0.06
B NUHTGRfEN) <001 < 0.01 0.01 0.02 0.02 0.01 < 0.01
~0.L < 0.01 — — — < 0.01 < 0.01 < 0.01
TUOEZTHER 0.06 0.04 0.02 0.08 0.09 0.02 0.02
T FEIE) 0.029 0.030 0.025 0.17 0.16 0.007 0.030
DIEE [BAF REmEHEH 0.01 0.02 0.02 0.04 0.03 0.01 0.02
R/NB AR A RBRE 0.042 — — — 0.059 — —

GE) B, E(BL3REH) DA EETRT,
NDIZ, M&HEESNBENZEIETRT,
XATORIEIEE DH

(

B{I:mg/l (=12, pH, KGR EHHZRS)
K E B S E {2 : MPN/100m|
7245, E03[X 1035, E04(X10M4TEETT

)




A & [ FEEERET)I| A X =)
N Py =
R A St | mesE (FEUER —sme mams | SET) kv
- mE (m®/s) 1.31 0.63 0.10 0.10 0.46 0.09 0.17
2KE (m) 0.67 0.32 0.11 0.09 0.16 0.06 0.11
pH 8.3 9.1 75 9.1 9.4 75 9.1
DO 12 11 9.8 12 12 10 11
£ BOD 15 16 0.8 1.0 1.1 0.8 1.2
;g coD 40 36 2.0 2.7 3.1 1.8 32
i SS 3 7 2 1 1 1 1
15 AEE#ER 8.8E03 7.9E03 5.4E03 3.7E03 2.9E03 7.9E03 5.5E03
B 2% 0.94 0.86 0.43 1.5 0.91 0.56 0.83
oy 0.088 0.096 0.028 0.064 0.063 0.029 0.066
ok 0.007 0.004 0.003 0.002 0.002 0.004 0.002
HREH L < 0.001 < 0.001 — < 0.001 < 0.001 — < 0.001
eLTY ND ND — ND ND — ND
£ < 0.005 < 0.005 — < 0.005 < 0.005 — < 0.005
AN ifod= W <0.02 < 0.02 — < 0.02 < 0.02 — < 0.02
fittR < 0.005 < 0.005 — < 0.005 < 0.005 — < 0.005
#aokER < 0.0005 | < 0.0005 — < 0.0005 | < 0.0005 — < 0.0005
® pcg — ND — — ND — —
SHOAAY < 0.002 < 0.002 — < 0.002 < 0.002 — < 0.002
Mgk ik < 0.0002 | < 0.0002 — < 0.0002 | < 0.0002 — < 0.0002
1,2->900T4ay < 0.0004 | < 0.0004 — < 0.0004 | < 0.0004 — < 0.0004
B 11->yoozFLy < 0.002 < 0.002 — < 0.002 < 0.002 — < 0.002
YA-12-UH/O0axFLy | < 0.004 < 0.004 — < 0.004 < 0.004 — < 0.004
1,1,1-kyoooxTay <01 <01 — < 0.1 <01 — <01
1,12-~JonpTay < 0.0006 | < 0.0006 — < 0.0006 | < 0.0006 — < 0.0006
H | M)HyOOIFLY < 0.003 < 0.003 — < 0.003 < 0.003 — < 0.003
FrSH/OOIFLY 0.001 < 0.001 — - < 0.001 < 0.001 — < 0.001
13-CH/on7oRy < 0.0002 | < 0.0002 — < 0.0002 | < 0.0002 — < 0.0002
Fo5 L < 0.0006 | < 0.0006 — ' < 0.0006 | < 0.0006 — < 0.0006
g YU < 0.0003 | < 0.0003 — < 0.0003 | < 0.0003 — < 0.0003
FARUANT < 0.002 < 0.002 — - <0.002 < 0.002 — < 0.002
¥y < 0.001 < 0.001 — < 0.001 < 0.001 — < 0.001
L < 0.002 < 0.002 — - <0.002 < 0.002 — < 0.002
EEUERRVEMEREESR| 073 0.62 0.17 1.2 0.73 0.46 0.52
ERE = 0.09 0.09 < 0.08 . 009 0.09 < 0.08 < 0.08
F5% < 0.1 < 0.1 <0.1 <01 < 0.1 <01 < 0.1
= TRIEESIFILAFLIL | < 0.006 < 0.006 <0006 < 0.006 < 0.006 < 0.006 < 0.006
B 7L < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
®OEIITY < 0.007 < 0.007 <0007 <0007 < 0.007 < 0.007 < 0.007
B FUFEY < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
B oz/—1 < 0.001 < 0.001 <0001 < 0.001 < 0.001 < 0.001 < 0.001
X RILLTILTER < 0.003 < 0.003 < 0.003 < 0.003 < 0.003 < 0.003 < 0.003
Jx/—)LEE < 0.01 < 0.01 — <001 < 0.01 — < 0.01
i < 0.01 0.01 — 0.01 0.01 — 0.01
% 8 CRRE) 0.12 0.07 — o008 0.07 — 0.06
ERESZ PR k) <001 <001 — <001 < 0.01 — < 0.01
~0.L < 0.01 < 0.01 — < 0.01 < 0.01 — < 0.01
TUOEZTHER 0.03 0.02 0.01 0.05 0.01 0.04 0.02
T FEIE) 0.030 0.049 0.007 0.043 0.037 0.015 0.046
DIEE [BAF 2 REmE S 0.02 0.04 0.01 0.01 0.02 0.01 0.04
R/ANOAR 5 R RE — — — — — — —

GE) B, E(AL3REH) DAEEETRT,
NDIZ, M&HEESNBNTEIETRT,
XATORIEIEER DH

(

BfI:mg/l (=12, pH, KIGREEHHZRS)

K E B S E {2 : MPN/100ml

7245, EO3[X10M3%E, E04IX10DAFEETRT

)




AN & AEN IV )T FAN [BEEFN| Wl
= =l
o gt A | mem | ews TRLAE cemm T T eruiE | e
. mE (m*/s) 1.14 — 0.43 117.14 — 0.30 0.51
—fg1EH —
2KE (m) 0.43 0.12 0.42 1.70 5.19 0.29 0.12
pH 79 8.6 8.7 7.8 7.9 8.7 7.7
DO 10 11 11 9.5 9.5 11 11
£ BOD 0.6 1.0 1.1 0.9 1.2 1.4 1.0
;g coD 15 25 3.1 3.2 35 3.7 23
i SS 1 1 2 3 6 1 1
15 AEE#EE 3.8E03 1.1E03 7.7E03 8.7E03 3.6E03 4.4E03 1.1E04
B 2% 0.25 1.2 1.5 0.59 0.68 0.86 1.6
oy 0.027 0.045 0.039 0.028 0.039 0.087 0.053
ok 0.001 0.001 0.001 0.004 0.003 0.009 0.009
HREH L < 0.001 < 0.001 < 0.001 — — < 0.001 < 0.001
eLTY ND ND ND — — ND ND
£ < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
AN ifod= W <0.02 < 0.02 <0.02 — — < 0.02 < 0.02
itk < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
#aokER < 00005 | < 00005 @ < 0.0005 — — < 0.0005 | < 0.0005
® pcg — — — — _ — _
SHOAAY < 0.002 — < 0.002 — — < 0.002 < 0.002
Mgk ik < 0.0002 — < 0.0002 — — < 0.0002 | < 0.0002
1,2->900T4ay < 0.0004 — < 0.0004 — — < 0.0004 | < 0.0004
B 11->yonzFLy < 0.002 — < 0.002 — — < 0.002 < 0.002
YA-12-UH/O0axFLy | < 0.004 — < 0.004 — — < 0.004 < 0.004
1,1,1-kyoooxTay <01 — <01 — — < 0.1 <01
1,12-~JonpTay < 0.0006 — < 0.0006 — — < 0.0006 | < 0.0006
1§ kJyoRIFLy < 0.003 — < 0.003 — — < 0.003 < 0.003
FrSH/OOIFLY < 0.001 — < 0.001 — — 0.001 < 0.001
13-CH/on7oRy < 0.0002 — < 0.0002 — — < 0.0002 | < 0.0002
Fo5 L < 0.0006 — < 0.0006 — — < 0.0006 | < 0.0006
g YU < 0.0003 — < 0.0003 — — < 0.0003 | < 0.0003
FARUANT < 0.002 — < 0.002 — — < 0.002 < 0.002
¥y < 0.001 — < 0.001 — — < 0.001 < 0.001
L < 0.002 — < 0.002 — — < 0.002 < 0.002
TEEMUERRUEMBREESR| 020 0.64 1.3 0.31 0.36 0.67 1.4
ERE = 0.08 0.08 0.09 — — 0.12 0.09
F5% <0.1 < 0.1 <0.1 — — < 0.1 < 0.1
= TR ITFILAFIIL | <0006 < 0.006 < 0.006 — — < 0.006 < 0.006
B 7L < 0.005 0.010 < 0.005 < 0.005 < 0.005 < 0.005 0.010
w 'YITY < 0.007 < 0.007 < 0.007 — — < 0.007 < 0.007
B 7UFEY < 0.002 < 0.002 < 0.002 — — < 0.002 < 0.002
B oz/— < 0.001 < 0.001 < 0.001 — — < 0.001 < 0.001
X RILLTILTER < 0.003 < 0.003 < 0.003 — — < 0.003 < 0.003
Jx/—)LEE < 0.01 — < 0.01 — — < 0.01 < 0.01
ﬁ R 0.01 — 0.01 — — 0.01 0.01
iﬁ Sk GRfEME) 0.02 — 0.05 0.03 0.04 0.23 0.09
g YUAYGEMEME) <001 — < 0.01 0.02 0.02 < 0.01 < 0.01
sals < 0.01 — < 0.01 — — < 0.01 < 0.01
TUOEZTHER 0.01 0.02 0.02 0.03 0.04 0.01 < 0.01
T FEE) 0.016 0.022 0.019 0.009 0.019 0.059 0.033
NIEE [BAF REmEHH 0.01 0.02 0.01 0.01 0.01 0.03 0.01
R/ANOAR 5 R RE — — — — — — —

GE) B, E(AL3REH) DAEEETRT,
NDIZ, M&HEESNBNTEIETRT,
XATORIEIEER DH

(

BfI:mg/l (=12, pH, KIGREEHHZRS)

K E B S E {2 : MPN/100ml

7245, EO3[X10M3%E, E04IX10DAFEETRT

)




Aol & wFH Tl =% A% Bl B3I
R B | +PEHE | WEE |FMEHE < @B | e | ook | RRIER
H H BERERR
—iEE nE (m*/s) 2.33 — — 1.57 0.91 0.07 0.47
2KE (m) 0.97 0.06 0.15 0.47 0.18 0.11 0.20
pH 7.3 8.9 7.2 8.6 7.6 7.3 7.3
DO 7.8 12 9.2 9.6 11 11 11
£ BOD 39 16 1.0 1.4 <05 0.6 <05
;g coD 6.1 55 3.0 40 1.3 2.6 1.2
i SS 3 2 2 5 <1 2 <1
15 AEE#ER 7.2E03 4.0E03 1.3E04 4.4E03 3.6E02 2.3E02 2.0E02
B 2% 6.5 1.3 1.1 0.65 0.20 0.15 0.25
oy 0.71 0.13 0.043 0.049 0.020 0.023 0.026
ok 0.017 0.002 0.004 0.005 0.002 < 0.001 0.002
HREH L — < 0.001 < 0.001 — — — < 0.001
eLTY — ND ND — — — ND
£ < 0.005 < 0.005 < 0.005 < 0.005 — — < 0.005
NffioA L — < 0.02 < 0.02 — — — <002
fittR < 0.005 < 0.005 < 0.005 < 0.005 — — < 0.005
#aKER — < 0.0005 | < 0.0005 — — — < 0.0005
® pcg — — — — _ — _
SHoaiay — < 0.002 — — — — < 0.002
migikix % — < 0.0002 — — — — < 0.0002
1,2->o00T4ay — < 0.0004 — — — — < 0.0004
B 11->yonzFLy — < 0.002 — — — — < 0.002
YA-12-CH/anIFLy — < 0.004 — — — — < 0.004
1,1,1-kyoooxTiay — <01 — — — — <01
1,12-~JonnTay — < 0.0006 — — — — < 0.0006
H | M)HyOOIFLY — < 0.003 — — — — < 0.003
ThzHRAOIFLY — < 0.001 — — — — < 0.001
13-CH/on7oRy — < 0.0002 — — — — < 0.0002
FooL — < 0.0006 — — — — < 0.0006
g YU — < 0.0003 — — — — < 0.0003
FARUAINT — < 0.002 — — — — < 0.002
€Y — < 0.001 — — — — < 0.001
L < 0.002 < 0.002 — — — — < 0.002
EEMUERRUEREBREESR| 49 0.99 0.80 0.30 — — 0.22
ERE = — 0.10 0.08 — — — < 0.08
F5% — < 0.1 <01 — — — < 0.1
m JELBIIFIAXUIL — < 0.006 <0006 = — — — < 0.006
B 7L < 0.005 < 0.005 < 0.005 < 0.005 — — < 0.005
# O E'IITY — < 0.007 < 0.007 — — — < 0.007
B FUFEY — < 0.002 < 0.002 — — — < 0.002
B oz/— — < 0.001 < 0.001 — — — < 0.001
X RILLTILTER — < 0.003 < 0.003 — — — < 0.003
Jz/—I)VEE — < 0.01 < 0.01 — — — —
i — 0.01 <001 — — — —
% 8 CRfRME) 0.05 0.04 0.10 0.05 — — —
B N GRfEN) 0.03 < 0.01 0.06 0.07 — — —
~0.L — < 0.01 < 0.01 — — — —
TUOEZTHER 0.81 0.03 0.02 0.10 — — —
T FEIE) 0.65 0.051 0.018 0.026 — — —
DIEE A4 REmE S 0.05 0.04 0.01 0.04 — — —
R/ANOAR 5 R RE — — — — — — —

GE) B, E(BL3REE) DRAEEETRT,
NDIZ, M&HEESNBNTEIETRT,
XATORIEIEER DH

(

BT :mg/l (1121, pH, KIGEBHZR)
KRB B S8 AL : MPN/100m|

72#5, E02(X100D25k, E03(L10MD3E, E04[X10D4EETT ,




